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Section Id : 874081172
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Question Number : 1 Question Id : 8740819518 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following data collection methods is not normally used in qualitative
research ?

e J H BE-E RSS! HqHsv GEE B 9GET JEEE: JOAS
o H A A S BT

Options :

Participant observation

1. %

Focus groups
, g PRI HiE

Questionnaire
3, ¢ AXTE

Semi-structured interview

4 % Hem H{HATHE HIEAERIE

Question Number : 2 Question Id : 8740819519 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

When a hypothesis states that there is no difference between two situations, groups,
outcomes or the prevalence of a condition, it is called :
U OieRedE TAEH o f™iodl, 9=, 9RemAr a1 el i @ =
H T HAT A8 &, d 34 HEI A B
Options :

Alternative hypothesis
| % Tieaes OiERea

Null hypothesis
— rv'r"r;_ﬂ
) 9 U =hed-l

Descriptive hypothesis
3w TOTHS T

Numerical hypothesis
4 x GEATHE THEHTT

Question Number : 3 Question Id : 8740819520 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which kind of research, analysis of data is an ongoing process during data collection ?

T =R & 9N o RSl & SUE9 & Gl HATHS! hl 90 UF Jod

Options :
Qualitative

1w 3T

Quantitative
) ® HI=THE

Survey

HaeToT

3. %

Experimental

U L=
4, % '

Question Number : 4 Question Id : 8740819521 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the main aim of interdisciplinary research ?
Options :

To over simplify the problem of research
HATHIA FHET F i T4 &

1. ®

To bring mlt the holistic ’1ppmach to research

2J34:1'€TI7|' qulfﬁlu—ﬂ:{ﬁm

To create a new trend in research methodology
% FIEUN TSl H oAU ugig & FEe & e

3.

To reduce the emphasis on a single subject in the research domain
TIEAN = F o ow faueg 97 g9 (F9) @ 59 @ § o

4, ®

Question Number : 5 Question Id : 8740819522 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following feature is considered as critical in qualitative research ?
‘]"JTI?HTQ'ITJ:EW#, MfeTaa § o HiE-Al -{I?I'-II?F[‘T”'_—FI“TWHT
ST Hebel 5 7

Options :
Collecting data with the he]p of standardized research tools
L% H Ld ST ITHION Al HerEdr o ?r-llﬂh‘al T Hehoro

Design sampling with probability sample techniques
5 % EEEIAT gGeT Tl W Hies =EE H A THDed

Collecting data with bottom-up empirical evidence
USTIl ® Hebod H O FAETEd HJiEmd @ e H 3= 'l @ AR

Gathering data with top-down schematic evidence
y w 99 F TP FIReT Jea d9inEa gen JaEeT



Question Number : 6 Question Id : 8740819523 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Parameter’ indicates the characteristics of which of the following ?

‘e’ MeTeaT " o e SeTaare & senar 5 7
Options :

Population

1, o

Sample
5w HfcTEel

Statistics

Statistical measurements
4 % HADE AT

Question Number : 7 Question Id : 8740819524 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an indication of the quality of a research Journal ?

F=iAiEe | | HE-E U SN 9= H YO B FHDH BT
Options :

h-index
L% Lt EEAET

g-index

) ® ST-H=ARIH

i 10-index
s % FTS 10-F=HH

Impact factor
4 T T



Question Number : 8 Question Id : 8740819525 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The nmphng techmque based on referral system Dfrespcrndenh is known as :
IUIGIIAT & T JUEl 9 ATHG 9iad=ad T &l . @ 09

H AT AT B

Options :
Convenience Sampling
-FI:; b T, b=
L% ﬁ-_j)I-IﬂT HAld=H+

Snowball Sampling
=T Oia=a

Cluster Sampling
VeI ISERE

Stratified Sampling
T Jid=a4

Question Number : 9 Question Id : 8740819526 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the first stage of a systematic review of literature ?
AT el HHIAT & 95l =29 497 5 7

Options :

Assess the relevance of each study to the research question(s)
.- HATEH UeS (WeHl) H U Ued FeAAS B ATENTRT B FHThT
Define the purpose and scope of the review
, @ THET & Igesd A AT H 9

Appr’u%& the qmllh of studies from the previous step
fgel =791 & ol (F=Ed) | TOTET AT FEE

3. %



Survey all of the literature contained within a single library
% T B JEaheE | Mg g4 afee i adeo

4.

Question Number : 10 Question Id : 8740819527 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What does it mean to operationalize a variable for empirical research ?
HAIATTA AJHIH & 0 U =T B/ =TT HIA B AT AL F 7

Options :
Defining variables into measurable factors
1. ¢ T M A AT FHEHI H IHNTT He

Describing which variable will be operational
, w T HAT o6 HBEA-H = A= B

Describing the tools of research
3 x FTHI & HIEA B IO AT

Describing the criteria of selection of elements in sample
4 x FGRT H SHEAT & FIT & AWGS B IO HIAT

Question Number : 11 Question Id : 8740819528 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

ANOVA is used to calculate :

UHTET (ANOVA) T I99RT 9641 JET & ¢

Options :
The difference between two treatments effect
| % S TUER "EEl & g & ¥ & g

The difference among more than two treatments effect
v O H FAEE I0ER q9E & 9= F AaT F [T

2

The association between two variables
s x O T & A HaAT & oo



The correlation between two variables
« of T4 & 949 JedEg & g

4.

Question Number : 12 Question Id : 8740819529 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

. are errors that can be attributed to sources other than sampling, and they can be
r’mdom or non-random.

L

o IiF'ZlI 5 o=
T TFaT B

L ==

181 5 2 s M R = [ = = v =1 o = O T
AGBH a1 -A5=sa =7 9@ - |

=

- 113

Nl 5'1«_’

R4

Options :
Random sampling error

, JTers® dia=ae Fie

NGH-[’ESPDIISE error
T —aidiEpar Jio
F )

Non-sampling error
TT-Tie=E= Fie

3.¢

Response error
EIGIEE =

4, #

Question Number : 13 Question Id : 8740819530 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a type of non-probability sampling ?

M= H | THF-F1 IT-FAEA] 9i0=aT 6 UE TS q8 2 ¢
Options :

Quota sampling
| x el Afa=aA

Snowball sampling
5 w T ST



Cluster sampling
VS ISERE

3.¢

Convenience sampling
4w BT HiA=E

Question Number : 14 Question Id : 8740819531 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Idea generation by two or more people thinking as freely as possible is formally known
as :

S AT S {EUE @R dT IUEEd Ead w9 99w #1 oS
A= ®H 9 F 9 9@ S0 A 5 7

Options :
Gap analysis

| % Hae Feeo

Forced relationship
)y T HeE

Brainstorming

3 o AT (S-EEIE)

The learning curve

% Hra= & g

Question Number : 15 Question Id : 8740819532 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In research terminology the extraneous variable can be described as ............. .
2N STerdell | =e40 =7 Hl 3H WHIT 9o a1 =1 Jhal &

Options :
Linking the independent and dependent variables
| x O AN SATAT =T BN A




Several factors operating in a real-life situation that is not measured in the study
may affect changes in the dependent variable

araigss FJEa B =i § wmE S 9T FE FEE A Js=]adT H
» T FE S E, 9 ANSd =Y H 9idad ®H TH9idd HT Fhd B

2

The outcome or change(s) brought about by the introduction of an independent
variable

IO A1 9iEge (IEEl) B U Emas =Y B EA & gdiE g
3% '

The cause responsible for bringing about change(s) in a situation
4 w FHET BRI H OiaeE (9 B e & [ S S

Question Number : 16 Question Id : 8740819533 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is meant by a "spurious” relationship between two variables ?
Options :
One that is so ridiculously illogical it cannot possibly be true

| x % IO TR W9 § eSS ¥ aw w9 9E 8 aw

An apparent relationship that is so curious it demands further attention
U T 99 A a1 M % 98 o = & & "2 Hmear B

A relationship that appears to be true because each variable is related to a third one
U HEH FAl I Udld BT 5 #4i U =Y U e =97 | Heied

=,

1

One that produces a perfect negative correlation on a scatter diagram
U Sl Uehiel AN (989 ==) 97 UF 99 RS dsa9d Iod
4 23 q-.-' .\ll %

Question Number : 17 Question Id : 8740819534 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



First step of research is :
ST =T 99" =T B
Options :
Designing the research
| ® SN FH TIIET FATT A

Data Collection
) % HATHST TIEHTHT

[dentification of the research problem
3 o AT FHET @ IEE

Analysis of data

L% HiBST 1 [Fecraor

Question Number : 18 Question Id : 8740819535 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which one of the following is not correct about hypothesis ?
UEmedH T & A § Hefanad 5 | @ 9 981 5 7
Options :

A good hypothesis is generally simple
| % UF F=ET Il JAEETdl J4d Bl B

It is necessary that a hypothesis must never be capable of 'being proved' or

'disproved'

a5 HAEAEH 5 [ UFH dEedAr HEl |1 CFANET B "G 91 C|nad |J
5 @ Bl W AT TE B

Hypothesis provides a right direction to a research
Ji¥ehed=l U= eie I d21 Qe Ue Hial B

In empirical research, formulation of hypothesis is an essential component of the

research design

HAGATSE T H, THeTAT B FHOT ST H TG B/ T ATID
4 % SII9 =

Question Number : 19 Question Id : 8740819536 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher has obtained a set of data having values 1,4, 5, 4, 6, 4, 8, 4, 9, 3, 2 find out
the mode :

U el H 1,4,5,4,6,4,8,4,9,3,2 % AN AcI HAHSI B UH TY==4
o AT B, S @ 991 o

Options :
1. % 6

Question Number : 20 Question Id : 8740819537 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How to judge the depth of any research ?

TE5E1 €1 e 1 =05 B HH ATH AT B 7

Options :
By research title

By research duration
Y AT & ATAT

By research objectives
e IRedl T AJAT

By total expenditure on research
g 9Y [ A B

Question Number : 21 Question Id : 8740819538 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not related to qualitative research ?
M=eET § |/ BE YOS AgET J F9ieT T8 57

Options :
Thematic analysis
EERHGEEER P

Case Study
g HA=EA (HE =30)

Discourse analysis
3w M GETE

Survey method

. a7 [=7eEr

Question Number : 22 Question Id : 8740819539 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Willingness of study participants to participate in the study is obtained by :
oM Hegge H AR o &% 00 Jemge gia9iiEl & 3281 BhEs 1 9T
Options :

Willingness is not necessary

=] &l A8 B

Informed consent
ged HeHd (SRS e )

2. ¢

Oral commitment is sufficient
s & ANES HIEE THT B

Copyright

o

4 % ) 4 p=1

Question Number : 23 Question Id : 8740819540 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a referencing style ?
M=faad § 9 39 U5 99 9 A8 & 7
Options :

Vancouver

Chicago
s« T9TERET

Index Medicus

. =T HiSTH

Question Number : 24 Question Id : 8740819541 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sensitivity of a test measures :
Options :

True positives
|« T HBATHS

True negatives
5 % G TAHAIHD

False positives
3 % AT HHIED

False negatives
4 % =T AR

Question Number : 25 Question Id : 8740819542 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Type-1I Error occurs if :
area-1l e 79 =1 & FiS
Options :
The null hypothesis is rejected when it is true
| % T4 I EHeIA T T BIF UT 1 a3 Al B

The null hypothesis is accepted even though it is false
g7 TTERedl Bl HAE BN U |l EERE AT S B

2. ¢

Both the null hypothesis as well as alternate hypothesis are rejected
¥p ) Yp ]
3 % I TETI] AT gHledah IEhed=l @FEl JAM-GIGHT HHE & AWl &

The null hypothesis is not rejected when it is true
9V IEedAl |ed B U7 A7 S 9A1 Bl B

4. %

Question Number : 26 Question Id : 8740819543 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When the data set contains too many extreme values, the most representative average
value is 7

9 AT H HY=4 (ST He) H T9gd AGw =IH "N BM E, a1 799
e 9famTe ofEd #9 BET B o

Options :
Mean

I

Median



Question Number : 27 Question Id : 8740819544 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher wishing to draw a sample from sequentially numbered houses uses a
random starting point and then selects every 6th houses, she/he has thus drawn a .............
sample.

OF oAl Al FgHHE® €9 H BN 99 H UF A9 oW Jmdl B, U@
qGesd RS fH6g @ IWEE Ha B AN B gEd 6 4 "7 H FAA

THEAT B, 3H UHNE FET TF .............. THAT AT |
Options :
Sequential

Systematic
2 \'.?.-' IJ:":I ji_l \.:T:]ﬁ

Simple random
3 % A ATGBH

Cluster

Question Number : 28 Question Id : 8740819545 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Randomized clinical trials can be best described as :
TGI8 Hal® TN Hl T9a9 =9 # Fioia mar = J96%ar §

Options :
Experimental studies

TR ST
| UTHIHTR A=A

Analytical studies

FERER e e e
2. %

Observational studies
o FATAEHT TET FEAA

3



Descriptive studies

L% JUIHTHTE HA=TTH

Question Number : 29 Question Id : 8740819546 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Weight is to the .............. scale of measurement as political affiliation is to the ..............
scale of measurement.
T wvevrrerrnees. THM T B AT TEANTH FIGHAT e, THM TT B |

Options :
ratio; ordinal
L% FHAI; A

ratio; nominal
L T " 1T
o T AIHS

2.

interval; nomunal
AT AEa

3. %

ordinal; ratio
sHHHED; FJAd
=

4. %

Question Number : 30 Question Id : 8740819547 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When alpha is 0.05, this means that :
I HTHI 0.05 B, O 3901 Hded & 6

Options :

the probability of a Type II error is 0.95
erEd I i I F49=-r 0.95 &

1. #

the probability of a Type II error is 0.05

L x T e @1 FEE=r 0.05 &



the probability of a Type I error is 0.95

y x OR9 1 FE & FHEr 095 B

the probability of a Type I error is 0.05
4 CE9 1 T @ FE9Er 005 B

Question Number : 31 Question Id : 8740819548 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Reliability of measurement means :
AT T FegEHEar # oF T E o
Options :
The method of measurement produce the same results when repeated

=,

| FT @ @ e S 97 981 9iemE 3o Bl B

The different methods of measurement on different materials produce the same
results
e FEEEl 9% " & G i OF &7 9ienE 300 5 B

The methods of measurement produce different results when repeated
, x AT F I SR SN 9 S-S 91O S B

The same methods of measurement on different materials produce the same result

4 % AN GWEE 9 A9 & FAN T8 JEM 90T S SR B

Question Number : 32 Question Id : 8740819549 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If you Iladﬂa z-score of 2.33 this would tell you that :
i A9 919 2.33 9 z-%hi< o, ol 9% A9 Farqm @ ¢
Options :
Your score was 2.33 standard deviations above the mean
| I T AT H 2.33 999 GEed el o

Your score was 2.33 standard deviations below the mean
o w HATIH FDHIY AT H 233 AWE GEOE HHoq



There was a probability of 2.33 of obtaining a score greater than your score
3 % IR FHIT H ATH 2-FHT 9T HIA H 2.33 FAEGAT A

There was a probability of 2.33 of obtaining a score less than your score
o FATEI EpR H WH 2RI OTH &2 F 2.33 HHAEAT ol

4

Question Number : 33 Question Id : 8740819550 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sample means are :

gfeel AT &

Options :

Point estimates of sample means
uidesl A1 W1 9wy Ao

1. %
[nterval estimates of population means
5 s CTTHEAT HE AT AH

Interval estimates of sample means
y w FTGRT AT HT S

Point estimates of population means

4 o THEEAT AT ey St

Question Number : 34 Question Id : 8740819551 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Field Study is related to :
H Femae @ 9499 fmag BT
Options :

Real life situation

| ardiges Sa- & i




Experimental situation
2 B 1:| J:I-\la_li qi '_-.—'_le

Laboratory situation
\ w TARTETET F et

Simulation situation

Question Number : 35 Question Id : 8740819552 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following software is a reference manager ?
ad | | HE-A] Jieddy UF JeH g99% 5 7

Options :
ADMB

Chronux
® EIRER

Endnote

Question Number : 36 Question Id : 8740819553 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the iﬂllcrmng is a phgnmm checking tool ?
BialEEEE] o 9 $E-4ar EUEIRZER SIR fIIT—4 R
Options :

ORCID

R



iThenticate

2. o SRS

Publon
3. % TS

Scopus

Question Number : 37 Question Id : 8740819554 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most common structure of a research article in scientific journals is :
IEN=R Ji=RrAT H UF oY o & 99 HH T3 2

Options :
Introduction, Summary, Results & Discussion, Methodology, Conclusion,
References

o TTTET; HITET GO AT ==l 9 anaie; e Jed

1

Summary, Introduction, Results & Discussion, Conclusion, Methodology,
References

5 x ST 9= 9o AR == e e anate; Hee

Introduction, Methodology, Results & Discussion, Conclusion, References

3 @ Oi=: ST Wi 9omH A =99 e J@ed

[ntroduction, Summary, Methodology, Results & Discussion, Conclusion
4 % TCFT; T o miate; 9o o == e

Question Number : 38 Question Id : 8740819555 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A measure of symmetry or asymmetry of data distribution is called :

HATHST (FH®) =9 FH FHEIAr a1 G99 & A19 1 FHET AT B o

Options :



Skewness

s (EaHan)

Kurtosis
Heliad (FHHea)

Mean
H12

Median

Question Number : 39 Question Id : 8740819556 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Study the given graph and answer the question.
Number of Girls and Boys participating in a Rally from Five Different Schools :
Jr= FER-FT Tl & Yol H§ AN o el dsihdl ST asat @ He

B00
5530 —4—

500 f----cmcmcmocao] peccocoooo-- - - EEEE B EaRatr

450
400 +-1 -1 BE-----1 Bl

350
300 - -1 BN----- BR-----

1 0OGirls
250

M Boys
200 +-1 -----1 B-----1 B ----- ----
150
100 +-- -----1 BEl-----1 B ----- ===
50

Number of Children

School

What is the total number of girls participating in the rally from schools A and C
together ?
Thel A A THT C | Yl & AFT oF drcll Tsihdi @ FHel e fhal

IJ

¥

ap



Options :

4, o 925

Question Number : 40 Question Id : 8740819557 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question.

Number of Girls and Boys participating in a Rally from Five Different Schools :

I FER-3ET el | YAl | AR o gl dSihal A @Sl @ 6
600
550

500 +-----=m---mmnn

_____ [ ——

450
400 +-4 -----|

350
300 +-1 -

1 0OGirls

250
200 +-41 -----1

M Boys

Number of Children

150

100 +-4 [----

50

0

A B C D E
School

What is the average number of boys participating in the rally from all the schools
together ?

AT eIl F AT Yol ° AR o gl ds@l 3 HEd |9 @Al g 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.



Options :
1. 300

5 480

n
]
N

Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

874081173
2

Online
Mandatory
60

60

180

Yes

0

1
874081215
Yes

Question Number : 41 Question Id : 8740819558 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Salinity of ground water generally :
Options :

| % Decrease during summer

- . E ﬂ -
R 4 Decrease Cll]['ll'lt monsoon

;3 % Remain same throughout year

4 % Increases during monsoon

Question Number : 42 Question Id : 8740819559 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Discharge rate of emitters usually ranges from :
Options :

| % 2-10 liters/day

5  2-10liters/hr
3 % 2-10 liters/min

4 % 2-10 liters/sec

Question Number : 43 Question Id : 8740819560 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

For the most economical rectangular open channel the depth (d) and breadth (b) are
relate as :

Options :
| » d=bn

3 % b=2dtan 6/

Question Number : 44 Question Id : 8740819561 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Furrow Irrigation method is suitable for :
Options :

| Almost all row crops

, % Horticultural crops



3 % Close growing crops

4 % None of the three

Question Number : 45 Question Id : 8740819562 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The usual mess size of the screen hole in a screen filter is :
Options :

| % 80 mesh

> % 100 mesh

3 120 mesh

4 % 140 mesh

Question Number : 46 Question Id : 8740819563 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Period for which water is supplied to a crop is called as :
Options :

1 % Delta

) % Duty
3 Base

4 % lrrigation intensity

Question Number : 47 Question Id : 8740819564 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



A mouldboard plough is used for :
Options :
|« Ploughing the land

, % Harrowing the land
5 % Draining the land

4 % Ridging the land

Question Number : 48 Question Id : 8740819565 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Emitters are used in :

Options :

L% Sprinkler irrigation

> % Water pump

5 % Surface irrigation

4 Drip irrigation

Question Number : 49 Question Id : 8740819566 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

TDR is used for measuring :
Options :
| % SAR

, % EC
3. % PH

4 Soil moisture content



Question Number : 50 Question Id : 8740819567 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A subsoiler is best suited for :

Options :

L% Shallow ploughing

) % Inter cultivation

3  Breaking hard pan

4% Furrow making

Question Number : 51 Question Id : 8740819568 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Drainage coefficient is the depth of water to be removed from an area in period of :

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :

L 1 hour

5 4 hours

3. 48 hours

4 36 hours

Question Number : 52 Question Id : 8740819569 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



4 ¢ of Sodium Chloride is dissolved in 2 liters of water, the salt concentration in ppm is :
Options :

| % 4000

> % 8000
3« 2000

4 % 16000

Question Number : 53 Question Id : 8740819570 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mole drainage is the most suitable in soils with :
Options :
| v Verylow permeability

5 w Very high permeability
3 % Course texture

4 % None of the three

Question Number : 54 Question Id : 8740819571 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In bio-drainage the commonly used vegetation is :
Options :

| % Mango

) % Guava
3 % Citrus

4 « Eucalyptus



Question Number : 55 Question Id : 8740819572 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Maximum rate of water application to be applied by a sprinkler system should be based
on :

Options :
|« Infiltration rate of soil

» % Hydraulic conductivity of soil
3 % Soil texture

4 % Soil structure

Question Number : 56 Question Id : 8740819573 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The weight of top 10 cm soil per hectare would be (given that bulk density is 1.2 gm
{cm3 and particle density is 2.6 gmfcmaj.
Options :

&
| o 12x10 kg

L % 13%x10°kg

f
y % 24%10 ke

4 % 26x10°kg

Question Number : 57 Question Id : 8740819574 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



If a 10 kg oven-dry equivalent soil sample contains 10% Gravimetric moisture content
how much waters in litres is required to raise it moisture content to 25% ?

Options :

= L

, % L7SL

Question Number : 58 Question Id : 8740819575 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

If mass wetness of a soil is 15% and bulk density 1.33 g/cm’, its volume wetness would
be :

Options :

| x 18%

5 20%

3 % 22%

4 % None of the three

Question Number : 59 Question Id : 8740819576 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The height of capillary rise is nearly equal to (r = radius of capillary) :
Options :

| % 0.3/r

) 0.6/r



0.9/

4 % L2

Question Number : 60 Question Id : 8740819577 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Latent heat of vaporization of at 100°C is :
Options :
80 Cal/g

1. =

, % 240 Calg

3 » 540 Callg

4 % None of the three

Question Number : 61 Question Id : 8740819578 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The size of clay particle in ISSS as well as USDA system is :
Options :

| % < 2 mm

) % < 0.2 mm

3 % < 0.02 mm

4« <0.002Zmm

Question Number : 62 Question Id : 8740819579 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

The permanent negative change on clay colloids is due to :
Options :

% pH dependent change

) [somorphous substitution

3 % [onization of exposed OH groups on clay

4% Protonation of OH groups on clay

Question Number : 63 Question Id : 8740819580 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

During mechanical analysis, organic matter is destroyed/removed by treating the soil
sample with :

Options :

| Dilute HCI

7 Dilute H,0,

3 % Dilute NaOH

4 % Na-dithionite

Question Number : 64 Question Id : 8740819581 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Wet sieving apparatus for aggregate analysis was designed by :
Options :
L Yoder( 1936)

» % Chepil(1962)

, % MeCalla(1944)



4 % Emerson(1959)

Question Number : 65 Question Id : 8740819582 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Crust strength is measured with the help of :
Options :

| % Piezometer

) % Permeameter

3  Penetrometer

4 % Psychrometer

Question Number : 66 Question Id : 8740819583 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The suction of capillary water varies between :
Options :

| = 0.00 and 0.33 bar

» % 0.33and 15 bar

3 0.33 and 31 bar

4 % 0.33 and 1000 bar

Question Number : 67 Question Id : 8740819584 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The source of fast neutrons in neutrons moisture meter is a mixture of :



Options :
| % BF;-Cesium

5 Amercium - beryllium

3 % Radium - amercium

4 % Radium- BF;

Question Number : 68 Question Id : 8740819585 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Soil moisture characteristics curve shows relationship between :
Options :

| % Soil water content and total soil water potential

»  Soil water content and metric potential of soil water
3 % Soil water content and osmotic potential

4 % Soil water potential and soil water capacity

Question Number : 69 Question Id : 8740819586 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Due to hysteresis phenomenon, soil water content at a given metric potential is :
Options :
L% Higher during sorption than desorption

,  Higher during desorption than sorption

3 % Same during sorption and desorption

4 » None of the three



Question Number : 70 Question Id : 8740819587 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The logarithm of the negative pressure head in centimetres of water column is known as :
Options :

Question Number : 71 Question Id : 8740819588 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Tillering in rice begins at stage of :

Options :

| % 1-21leaf

» % 2-3leaf

3 % >-4leaf

4 o 45 leaf

Question Number : 72 Question Id : 8740819589 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The extent of energy saving by no-tillage crop establishment over traditional method is :
Options :

| x 57%



71-9%

2. %
3 % 9-11%
4 v 15-20%

Question Number : 73 Question Id : 8740819590 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The instrument used to measure humidity is :
Options :

| % Altimeter

) Hygrometer

3 % Hydrometer

4 % Barometer

Question Number : 74 Question Id : 8740819591 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

1 ha cm of irrigation water is equal to :
Options :
1+ 10,0000 Litres

) 1,00000 Litres

3 % 1000 Litres

4 % 10,00,0000 Litres

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if
any of the correct options are chosen.

Question Number : 75 Question Id : 8740819592 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Most commonly used herbicide in maize is :
Options :
| % Butachlor

) Alrarine

5 w Isoproturon

4 % Sulfosulfuron

Question Number : 76 Question Id : 8740819593 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
ICRISAT is located at :

Options :
| = Bangkok

, % Pune

5 % Ahmadabad

4  Hyderabad

Question Number : 77 Question Id : 8740819594 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is non selective contact herbicide ?
Options :
L% Bispyribac sodium

) Paraquat



5 % Fluchloralin

4% Glyphosate

Question Number : 78 Question Id : 8740819595 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Annual average PET of India is :

Options :

| % 1195 mm

, % 850 mm

3 % 2330 mm

4 1770 mm

Question Number : 79 Question Id : 8740819596 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Crop water use efficient refers to :
Options :

| V/ET

5w V/WR

; » DME

, % DM/T

Question Number : 80 Question Id : 8740819597 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Water requirement of wheat ranges from :
Options :

| % 100-200 mm

) % 200-400 mm
3 400-600 mm

4 % 800-1000 mm

Question Number : 81 Question Id : 8740819598 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

International Water Management Institute is located at :
Options :
| = Bangkok

, % Mexico

5 % Dhaka

4+ Colombo

Question Number : 82 Question Id : 8740819599 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The green water refers to :

Options :
|« Water in soil moisture and plants

) ® Walter in reservoirs

5 w The waste from kitchen and wash room



4 w Sewage and industrial waste water

Question Number : 83 Question Id : 8740819600 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Spacing between sprinklers at high wind velocity in :
Options :

| % 1/4 of wetting diameter

) 1/2 of wetting diameter

3 % 2/3 of wetting diameter

4 w 34 of wetting diameter

Question Number : 84 Question Id : 8740819601 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sorghumisa:

Options :
% Csplant

) Cs plant

3 % CAM plant

4 % Desert plant

Question Number : 85 Question Id : 8740819602 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one is the submergence tolerant rice variety ?
Options :



| % BPT5204

, % IR64

3 BINA Dhan 11

4 % Sarjoo 52

Question Number : 86 Question Id : 8740819603 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A perched water table :

Options :

L% May lie below the ground water table

» % May lie both above and below the ground water table
5 s deceptive and the yield from it is short lived

4 % Gives a fair amount of sustained yield

Question Number : 87 Question Id : 8740819604 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For Darcy's law to be valid, the Reynolds number should be :
Options :
| % Greater than one

) Less than one

3 % Equal to one

4% Greater than four

Question Number : 88 Question Id : 8740819605 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which law states that the intensity of pressure at any point in an incompressible liquid at
rest inside a closed container is same in all direction ?

Options :
Darcy's law
u L

. Archimed's law

3 Pascal's law

4 # None of the three

Question Number : 89 Question Id : 8740819606 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The visible portion of Electron Magnetic Radiation lies between :
Options :
| v 04-0.7pm

> % 0.5mmtopum
3 % 0.7-1.3 pm

4 % 0.7to14pm

Question Number : 90 Question Id : 8740819607 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The waterway constructed in a dam to dispose of surplus water is called as :
Options :
| % Drainage way



» % Channel

3 Spillway

4 All of the three

Question Number : 91 Question Id : 8740819608 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Drainage coefficient is :

Options :

The depth of water in cm or meter to be drained in 24 hours period from the entire

| drainage area.

» % The drainage capacity of a canal.
5 % Drainage of water in cm or meter from a water body within 1 hour.

4 % Drainage of water from a crop field in cm or meter within 1 hour.

Question Number : 92 Question Id : 8740819609 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The altitudinal distance of a geostationary satellite from the earth is about :

Options :

[ ® 26,000 km

5> % 30,000 km

3 36,000 km

4 % 44,000 km

Question Number : 93 Question Id : 8740819610 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Soil moisture tension in a salt free soil field capacity ranges from :
Options :

| % 0.1 to 0.3 bars

5 % 0.3-1.0bars

3 % 0.6-0.8 bars

4 0.4-0.6 bars

Question Number : 94 Question Id : 8740819611 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Delta represents the :
Options :
| Total depth of water in cm required by a crop

) ® Seasonal water requirement by a crop in cm

3 % Daily water requirement of a crop in cm

4 % Monthly water requirement of a crop in cm

Question Number : 95 Question Id : 8740819612 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The total water required to give 6 cm irrigation to border strip 100 m long and 6 m wide,
assuming conveyance efficiency of 60 percent, is :

Options :
| % S0cu.m

7« 60cu.m



3 % 21.60 cu. m

4 % None of three

Question Number : 96 Question Id : 8740819613 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Field water use efficiency is the ratio of :

Options :

| Crop yield to total amount of water used in the field

Crop yield to amount to water used by the crop for its metabolic used and

) ® evapotranspiration

Water stored in the root zone during irrigation to water needed in the
3 % root zone prior to irrigation

4w Water delivered to the irrigation plot to water supplied at the source

Question Number : 97 Question Id : 8740819614 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How many hectares of land could be irrigation if the total water available is 200000 litres
and the water required per acre is 200 cu. m

Options :

1% 1 ha

Question Number : 98 Question Id : 8740819615 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The sheet of water flowing over the weir is called as :
Options :

| = Weir crest

> % Weir sheet

3. v Nappe

4 % Free flow sheet

Question Number : 99 Question Id : 8740819616 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In comparison to a barrage weir has :
Options :

1 % Low cost and low chance of silting

, w High cost and high chance of silting
5 w High cost and no chance of silting

4 Low cost and high chance of silting

Question Number : 100 Question Id : 8740819617 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Hydrograph is a plot of :
Options :
|« Discharge and time in chronological order

, w Rainfall depth and time

3 % Runoff and rainfall depth



4 % Intensity and duration of rainfall



